
2021_RapidLoo Pro V.2  | TB5-RLP-

Image T blustar Code Unit Description Descrizione
DISTINTA 

BASE
Qty.Needed

TB5-R01 PCS Roof Tetto 1

TB5-R02 PCS Panels/Walls Parete 3

TB5-R03-A-DOOR PCS Door Porta 1

TB5-R03-B-FRAME PCS Door Frame Montante 1

TB5-R03-CAP-FRAME PCS
Black Caps for Frame and 

Roof
Tappi neri per Montante 

e Tetto
3

TB5-R04 PCS Base Base 1

TB5-R05-A-DROP PCS Tank Tanica 1

TB5-B07 PCS Toilet Paper Holder Portacarta 1

TB5-B008 PCS
Ventilation Pipe
Lenght 157 cm

 Tubo di Sfiato Lunghezza 157 cm 1

TB-BLU-03-P PCS  Toilet Paper holder BarRapidLoo Pro
Asta Porta Carta 

RapidLoo Pro
1



2021_RapidLoo Pro V.2  | TB5-RLP-

Image T blustar Code Unit Description Descrizione
DISTINTA 

BASE
Qty.Needed

TB5-RP-0015 PCS
Plate for Door/Spring 

bracket
Piastra Rinforzo molla 

porta
2

TB4-DOOR-04 PCS Door frame/spring bracket Piastra molla montante 2

TB-DOOR-000019 PCS
Door Frame Bracket - 

RapidLoo Pro
Staffa Cornice Porta 

RapidLoo Pro
1

TB-DOOR-0000014 PCS Small Rivet 4,8x16 Rivetto Piccolo 4,8x16 54

TB-BLU-04 PCS Long Rivet 5x25 Rivetto Grande 5x25 4

TB4-RP-021 PCS Screw M5x18
Vite per Maniglia Parete 

RapidLoo M5X18
32

TB4-RP-022 PCS Nut M5
Dado per Maniglia Parete 

M5
6

TB4-RP-023 PCS Washer M6
Rondella per Maniglia 

Parete M6
6

TB4-RP-025 PCS
Screw for Big Door Latches 

M5x25

Vite per maniglia a scatto 
grande 

per RapidLoo Pro&Rec 
5x25

32

TB4-RP-026 PCS  Screw for Handle Wall5x20
Vite per maniglia parete 

M5x20
6

TB4-RP-02 PCS
Cylindrical Head-Screw with 

Hexagon Socket 
M5x10

Vite 5x10 a testa 
cilindrica bombata con 

esagono incassato
6

TB4-RP-0008 PCS
Extension

 for Roof Connection - 
RapidLoo Pro

Elastici per fissaggio tetti 0,25



2021_RapidLoo Pro V.2  | TB5-RLP-

Image T blustar Code Unit Description Descrizione
DISTINTA 

BASE
Qty.Needed

TB4-CABLE-01 PCS  Cable for Packaging Fascetta per Imballaggio 1

TB5-RP-0004-LK PCS
Pin Lock for the door for 

RapidLoo Pro
Staffa Lucchetto

per RapidLoo Pro
2

TB-BLU-FS01 PCS Toilet Seat Seggetta 1

TB3-LL-01 PCS Latch - Large x RapidLoo
Maniglia a Scatto - 

Grande
8

TB3-LS-01 PCS Latch - Small x RapidLoo
Maniglia a Scatto - 

Piccolo
8

TB3-LK-01 PCS
Latch Key to Secure and 

Open the Large and Small 
Latches & Cap Top

Chiave in Plastica per le 
Maniglie a Scatto e 

Tappo
0,5

TB-DOOR-00002 PCS Door Hook Appendiabiti 1

TB-DOOR-FS05 PCS Sliding Door Lock Piastra Serratura 1

TB-DOOR-FS06 PCS
Door Lock red/green Cover 

Indicator
Serratura scorrevole 1

TB-DOOR-FS07 PCS
Interior and Exterior Door 

Handle / Grab Handle
Maniglia 4

TB-DOOR-00008 PCS Door Hinge Cerniera 3

TB-DOOR-00009 PCS HINGE NUT Dado per cerniera M8 12



2021_RapidLoo Pro V.2  | TB5-RLP-

Image T blustar Code Unit Description Descrizione
DISTINTA 

BASE
Qty.Needed

TB-DOOR-0000011 PCS
Washer for Hinge
DIN125 A-140 HV 

M8 X 24

Rondella per cerniera
DIN125 A-140 HV 

M8 X 24
12

TB-DOOR-RL00020 PCS
Door Spring for 
RapidLoo Pro

Molla per Porta RapidLoo 
Pro

2

TB4-VENT-015 PCS Panel Grid for Air Ventilation Rete Areazione 3


